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QUESTION 1

Which three features can be enabled for a new host cluster? (Choose three.)
A. Storage Distributed Resource Scheduling

B. High Availability

C. Fault Tolerance

D. Distributed Resource Scheduling

E. Virtual SAN

Correct Answer: BDE

QUESTION 2

A junior vSphere Administrator takes a snapshot before logging into a VM to preserve the current state in
case of a problem.

Assuming this process is repeated every day for over 30 days, what two results will happen? (Choose
two.)

A. The virtual machine can end up consuming more space on the datastore than assigned

B. The virtual machine\\'s performance will decrease

C. The administrator will have backups for the entire month

D. The administrator has successfully cloned the VM 30 times

Correct Answer: AB

QUESTION 3
An administrator has an application that requires connection directly to PCI devices through a virtual
machine.

What is a limitation of this configuration?

A. Devices must be reserved for PCI passthrough on at least one host on which the virtual machine will run.

B. Snapshots are not supported with DirectPath I/O passthrough devices.
C. A maximum of 18 PCI vSphere DirectPath devices can be added to a virtual machine.

D. Only one PCI controller can be presented to the virtual machine.
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Correct Answer: B

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUID-
53F65726A23B-4CF0-A7D5-48E584B88613.html

QUESTION 4

A vApp named Sales has a Memory Limit of 32 GB and a CPU Limit of 12,000 MHz.
There are three virtual machines within the vApp:

Sales-DB -- Has a memory reservation of 20 GB.

Sales-DC -- Has a memory reservation of 8 GB.

Sales-Web -- Has a memory reservation of 8 GB.

Which statement is correct?

A. All three virtual machines can power on, but will have memory contention.
B. All three virtual machines can power on without memory contention.

C. Only two of the three virtual machines can power on.

D. Only one of the virtual machines can power on.

Correct Answer: C

QUESTION 5

What is the VDP appliance available storage configuration maximum?
A.62TB

B.2TB

C.47TB

D.8TB

Correct Answer: D

Latest 2V0-602 Dumps 2V0-602 VCE Dumps 2V0-602 Exam Questions

Latest 2V0-602 Dumps | 2V0-602 VCE Dumps | 2V0-602 Exam Questions 3/3


https://www.pass4itsure.com/2v0-602.html
https://www.pass4itsure.com/2v0-602.html
https://www.pass4itsure.com/2v0-602.html
http://www.tcpdf.org
https://www.pass4itsure.com/2v0-602.html
https://www.pass4itsure.com/2v0-602.html
https://www.pass4itsure.com/2v0-602.html

